6 = a 2860 = PX A9 /A8asug
001 oro

v0—-dL¥vE —+ ¥0—-4d84°S = WJOoN = [TT T T T LELBLEL I -
10-3182 -+  00+3LlT- = | ‘,ﬂ’v Af E
10-396T -+  20-380'F% = Hy g ‘lllv E
a1-322°2 = xni4 w |
10-388°'1 = 9jed OOQW = ] I T A B ] [vi 00
A9/ AS1auy A9¥ /ABasuy
001 010 001 o1o
T T [TTTT T T 1 T [TTTT 1T 1 T [TTTT T T 1 T [TTT T T T
N _ 5
o) - _
=
BN - 2
- _ =3 B -
. ) | ]
B N i ~ L i
— N . 0 = -
— T Je-01 8 F .
. il N -
| _ ~
1/ (0] — ]
< 1 \
- . ~ = ~ .
= 1 N | 1 11111 H [ 1 v 0 1 leoi o1

LSPE8E+SESSSEIr SXde [mod, wured G410 T€0le6

m N - o
s[enpisay

2-01

1-0T1

(A®¥ s)/syuno)



